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L (@) Ap(z1 — 1) (22) Ar(e = y2) j (23) Ap(es — ys)s® (y1, ya, y3) =W

2. G (@1, w9, w3) = Ap(x1 — y1) Ap(za — y2) Ar(2s — y3)s® (y1, y2, ys)
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Trazas

Aty =20
2. 5(Tr(v) + Tr(37u)) = 6, Tr(1) = 46, = Tr(7,7)

3. Tr(vumavs) = Tr(S7umaveS ™) = Tr(SyuS ™SS ™ 8728 7 8ysS ™) = L7 5L~
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4. Syr S—l=L =t~

5. Te(7/y"y Y% ) = Ann? + Byt + CppPyr = AP + Bnnie 4 CoPen,
A=C

6. Tr(7"y"y*a) = Anne + Bi®ng + Adnt = Ant" + By + 4 Anh

7. 7 Ya =107’ = 510s{71*, 7°} = 570277 =4

8. Tr(vF9y"y*yo) =4 x 4n** = (5A+ B)n*¥, 5A+ B =16

9. py=v=a=8=04=2A+B3A=12,A=4, B=—4
10. Tr(yHy@y?) = dnhne — dnrmhe + dnfenn

11. Tr(yPyHy¥y*yP) = At P 4° = iO9 14243, Tr(7°40919%7%) = —4i= A



